6 7 EREX AT RS
ERk26410A5H (BH)

B AREE AT 4 R STHR R e B
B2 EHERSAZ U X |

YEME

X AR

BB B EE=PER) L—F— A
BEE AHEth— (EER)
B¥ RHE BHHE) MW S&EQ K LEQ HE Q)
¥ R AEQ ARE EREQ EHh X2EQ EER ARQ)



59 oRayT 43 EiRiRR

#B 2014510858
=4 FEOIEIRER RAFTRS BAOGRE EE =X
B | X’ Am | A2 | RE | EE # %
9:15 53] RIL® 1.4 15.0 94
10:00 53] RILE 0.2 16.0 89
11:00 53] X 1.0 15.0 94
12:00 53] I T R 0.3 15.0 94
13:00 53] RER 0.5 15.0 89
14:00 53] GES 0.5 15.0 89
15:00 53] FIRE PG 0.4 15.0 89
16:00 58] e ] 0.5 15.0 89




INEBF 3-44E60m REH
KEH B FE KB (IVSS0) FH2AE

14 &aM BFEWA =9U3ScC 1) 9Fb5
2 & BAWG =Y3ScC 2) 10840
31 He & 4) wmEAC 3) 10741
INEBT 5-6£E100m RBS BALAES % 15:15
=ik 13 MR "2z (E95SC) FrlI8E
B( -0.6 )
14z R ERik (6) 1) 1400
211 XEH E(6) WwmEAC 2) 14716

3  EEB XK—6) =IvISC 3) 1552

INEZTF 3-A%E60m RES
K/ W2 WK FK (IV5SC) FRHIE - 165

1 ' HBHYE) 1) 10801
2 KB FEEG) #wIBAC 2) 10F)
3 B BEEFOQ) RIBAC 3) 10%)5
INEAF 5-6£E100m BRBS BASABEZ 15:15
2538 1382 UK 3K (I95SC) FHITE
BE( 00 )
16 fR® ZEE®6) RIBEAC 1) 1477
2/ it YV 127-BRABAC 2) 1489
3L A HEG) wEAC 3) 1489
BT 14£100m RE BAsAEE%] 15:35
S8k 11708 1E 8 (I95SC) EUE
A( 00 )

14z #A KF(A) =9H35ScC 1) 12§05
246 #% BAE) 5= 2) 1370
3L EE RN =H3ScC 3) 1373

hZE BT 24E100m RE BAsAEE%] 15:35
KEHE BT BERKH GRIE—) ERITE, ME— GRIE—) 195, 0BEH (39550) 244
R -0.4 )
16 AF RA s95sc 1) 1B

2 K¥ HEQ) HRE—F 2) 12#7
3 ME =2 E=H 3) 1381




BT J4E100m R BABLRE % 15:35
255 1192 B# 28 (B&Z) FERIE

Bm( +0.8 )
14 £k E¥R@) IRIBAC 1) 11§09
2 {1 BER %303 FKE= 2) 1270
3L A &F Q) ER—& 3) 1270
h2EBF 200m RES BABAES R 14520
SRR 2302 B EA (hE) FR2E
R -02 )
14z aH M =93 ScC 1) 23#3
2 {1 k% B¥RQ3) IWBAC 2) 2571
3L mas =0 B=f 3) 2673

HEBF 1 - 24£1500m RE%
SEE AREHE 493706 AL =K (LIRES) FTRUE

1 =% #EHa) KFE-—FH 1 4575378
24 EE R—EQ2) EWRIB=H 2 570376
3 BE HHO) BHR-—F 3 57070

e B F 3000m R BAskREZI 16:00
LR85 992382 BE A# (BFRE) FRIE
1 AE BEQ EHN=4 1) 10516%8
24 £ R—ER(Q) LIABSH 2 105336706
3t HE HEQ) BSBE=H 3)  10555%h4
hE4&F 14100m RES BASAEE%] 15:25
LB 1289 BH TUA— (BERZ) TR2IE
R -07 )
1 kB EE0) EN=H ) 14704
24 A BHEN)  LiRE=H 2 1477
3 BT BEH(1) BHE—F 3) 14508
REELZF 24100m RAE BASAEE%] 15:25
iR 1208 BER 4B (EBS) TRUE
B( 00 )
146 #iE T HE— 1) 14800
2  WNE EZ(Q) LiE=H 2 14700

3 HEFE FLHQ) FE—H 3) 14701




A F 34100m R BBl 15:25
£5E 1206 KRIEF (BREER) THLE ZBF (EB—) 6 BHT7oN— (BERZ) 238

E( 00 )
1 7 BEQ) BBETH 1) 14700
241 Bk HEQ BE—H 2) 14706
31 RE 2150 B=mH 3) 1478
hZEAcF 200m R BRIABEZ| 14:15
L8R 26007 HEHOH (AE) BBHISIE
BE( 00 )
141 35 KA ZTHR@) LRE\E=H 1) 28%)1
241 41 1E FTFQ HE—F 2) 28%9
3H124 HEH £EQ B=H 3) 29%8
h2E4icF 14800m RES BAsAEEZI 11:20

RECE 2932K8 +XFEX (BEMM) FTIEF

16 kg FE(0) EBN=d 1) 2534379
2z B #F(0) BE=% 2) 3531079
36 ME EFA) ER—Ff 3) 3532004

thi4rF 2 - 34E800m SRS BRBaRS % 11:25
28k 2928¥3 AH BE (BWH=) FRI3E

1 i EEQ  KE—o 1) 25391
ofi  FE #BQ BB 2 254888
3 R RYEQ LIEE=D 3 255081

—figBF 100m R BALAEE % 15:45
L5348 1085 Z)IKE (Emi TFC) FHI174 1085 i2)IIK# (Ise A Lab.) 184
AB( -1.6 )
14 HE BRI (1) BISES 0 1187
2 i ¥R E— LI KREES 2 1283
31 M =E() BHISS 3) 1285
—f8 B F 40B1L100m R BALAES %I 15:10
SR 1B Bit BE (EE5TAC) THIHF
m( -0.5 )
14 RIE Bk 1) 1482

241 HE &2 2)  14%3




— B F 60mLLL100m RMEB}

FsaRsZI 15:10

RECER 1302 Bt BB (Rm#MT) FRITE

14 Kk & RABE T

21 TR %

3L B B3 wRIEAC

& ( 0.0 )
1)) 15804
2) 1555
3) 1589

— g B F 200m R

FtAEEZI 14:30

RECEHE 2382 XS WE (Emi TFC) FmRITE

14 FE B B T RIEEAR

2 i EN Mt B T RIEEAR

3L mER BEQ)  #SIRESR

& ( 0.0 )
1) 2489
2) 2570
3) 2574

— g B F 800m Rk

FtAEFZI 11:30

RECEE 175984 BF A (KR—%5) FHIHE

1461 HwxE EQ) I REER

1) 25310800

24 Ml /X)) #MIRESR

2) 2531182

3 TR BEO)  MIKRESK

3) 2573141

—#5F 60mLLE1500m R
KEH 5B B RAL

1461 FE xXE EETERR

BAEAREZI 14:00
(BEBEERSR) FERRE

1) 65321704

21 Hig & RABEZFT

2) 65732582

3 RE EM EETERR

3) 1572027

— g BF 3000m Rk

BAtaEFZI 16:00

RER 9HBHT ME BA RREMER) THSE

114 5 BtQ #MISE

1) 943070 GR

2 i =iF EQ WMISS

2) 953343

3 Hd & (1) WMISS

3)  95740%p4

— 8% F 100m RS

FAIREFZI 15:45

RECEH 1287 LK EF (KWS) FHxE
m( -03 )

160 #E XRQ) WMIRESK 1)

1374

2t BE EOQ WIS 2)

1387

3t B RO RRRBAM 3)

14801




— 8% F 200m R BBl 14:25
Sk 2780 M KE (RKUWB) TFHTHE

B( 00 )
1 KRB ERQ  HIARESR D 27807
2 #B RASE(1) HISE 2) 28%03
3L B OBEQ RERBAK 3) 29F04
— 8% F 1500m 3R BABAREZI 14:00

RECE 5726804 HHA FEF (HIRES) THIDE

16 Bzxz EEQ) MISH 1) 55713#8 GR
24 /R ERKD) #MIwBEEHR 3) 5542803
3 BHH FMA) ERRFRBEAM 2) 553385




INEBF 4% 100m A% BRAEEZI 13:45
£508% 53F7 (IUS5SC) ERI8E

& F—L% 17 25E 3E 45 ECE%
fi_S77SCB_ _ _ _23_BE A (6) 22_#% BELEG _25 A% BIH6) 24 A BAG_ 150381
OP_ HABAC-A _ _ _ _20 _[I# _CH@G) _12_ mf _#MAG) _10_KE 756) _ _9 _XFH R6) _ 1570585
DQ =73Sc-C 32 deiE FIS@ 34 fE BLE@ 31 FHM EFWA 33 E KA
INEEF 4% 100m R BAEAEE %I 13:30

KEEHR 57809 IBAC (BEM-BEIR-FT-B0) Fr2245

& F—L& 15£ 27 3 45E 8% k=
J_ #REBAC-D _ _ _ 7 _ME® X6 _8 _mrrorzee 9 AW KGO 5 B BRO)_ _ _ _ _ _ 190084 __ _ __ _
261 WIBAC-E _ _ _ _6 _ KR _BRG6) _10_[EAX MG 12 _HE REG) 13 N GG __ 1720288 _ _ _ _
3L Sy5SC 29 IUA FRE) 28 SH EZXQ) 25 F HooHG) 24 EEF #EE6) 14>06F)7

BT 4Xx100m 24 LL—RXRE BE
£5348 4577 (hh) THTE

iz F—L# 15 25 33 43 RER &%
1 B=HA 158_ WE _SU3(3) 152 WES 8K4(3) 156_#F SAE() _ 153 MAH ®(Q2) S0 _ _ _
208 S2%SC_ ___ 147_RE _EI(1) _149_ iRk JRAM(1) 150_ Bk () 151 #E A e _ _
M FES_ 132_ B #4A(2) _135_ W _7AZ0) 134_\E ZAMG) 133 _R |2 0 _ee®9 _ _ _ _ _ _

L F 4% 100m 21 LL—RRE BE
KR 5286 (BHEP) FRTE

v F—L4% 17 2;& 3E 43 FOE% k=
16 EARES=P-A 28 _ [@IWL_EQ) _ _30_ Ak EFEQ _27 _BK AEQ) 31 _WE XFQ)_ _ _ _ _ ___ 5670 _ _ _ _ _ _
2 BEd-A 118_ fRiZE _8AF(Q2) 123 ARE XBQ _124_EFEH XEQ) 120 =R BR@_ _ _ _ _ _ _ _ 579 _ _ ____
3 BBE—H-B _ _ _80 _XE 2EFWQ _76_HD _MEQ) _75_ M BEQ) 79 EK BEQ_ _ _ _____ 58700 _ _ _ _ _ _
—fBBF 4% 100m R BAIABS %] 16:15

KEE08% 4375 (FETC) FERLIsE
F—Lf 17E 27 37 45E bz k=
MG BUSE-A _ _ 167 KA M8 74 _ KB _A(Q) _ _80_EO E(1) _ 78 W BRIWM__ _ _ _ _ _ _ AT __
205 BIUBEER_ _ _16 _ #x_IQ2) _ _21 _ #&R _EEQ _18 _Fil KFA) 19 K BFO__ _ _ _ _ _ _ v _ _ ____
3 MUSH-B _ _ _84_WE _FmFE() _76_ WA _MEEQ) _77_H% M) 82 AP F() _ _ _ _____ 49mb8 _ _ _ _ _ _
— i F 4% 100m R BEAREZ] 16:15

ARER 52806 (KIUE) FHTHE

F—L% 15 25 3E 45E F08% &=
i NS E-A 53 HIE HMF(2 52 EBE B2 56 _ 28 AS(1) 57 SH# £ZFW) 54516

Jeo o —
<t
TN
=
Kt
)
]
i
?
>
>
2
H
I{l
&
‘H
1
[{=]
=
H
i
=
S
>
ki3
=
bt
i
Iy
3t
St
-
=
(4]
[«>]
3
~




INEBTF 3 - AFEEIREE

ekl

10:20

SEE 2m99 it 1B (ARABAC) FR25%F
G i SRR
E & (% & i B TEe 2EE 3EE AL i =
(A () (B ()
M | EEG) =)3ScC 3mi2 2m98 3m24 3m24 GR
0.3 .5 16 .6
261 |deHE FIE D) =)3SC X 3m07 X 3m07 GR
0. 6 0.6
KIvAN NiO - )] =J3ScC 2m97 2mb4 2m58 2m97
1.6 .2 o .6
A EFZI 9:15
EYys = FIR %
INEBF b - 6FENED — ————
£ 4m62 BRI GEE) ERI3E
B | B & (2 & w B 5 BERG # =
1EAR 2@EE 3EA
(B (&) (B (&)
i | XE E(6) WmEEAC 3m59 X 4m33 4m33
+1.8 +1.5 +1.5
261 iEFH KA (6) =)3SC 3m99 4m15 4m17 4m17
+1.5 +3.4 +1.4 +1.4
L |HF ELERES6) =935ScC 3mb6 3m70 3m68 3m70
+2.2 +2.5 +1.5 +2.5




10:20

INSETF 3 - AFEFEED Bsa RS2l

KEH 20 BA WL GRIEAC) FR5E

iz Bt #
BERR
E & (% %) G & 1E8 2m@8 amE i %

(&) (&) (&) (&)

16 [l =K Q) ART |G 2m46 2m43 2m52 2mb2
+0.2 +1.9 +0.5 +0.5

i |BE XRQ) IU3SC 2m49 2m30 2m39 2m49
+1.3 +0.9 +0.2 +1.3

3L |HE L (4) RIEAC 2m33 2m31 2m47 2m47
-1.4 +1.7 +0. 4 +0.4

9:15

IN$ETF 5 - 6EEE BAsE %)

K% 01 BE BF (3I9550) FRI6E

S 53
SESERES
[[:4v3 KE & (% %) i = 1EE 2@ 8 3EE % %
(R) (&) (R (&)
i |28 #m©) I75SsC 4m07 X 4m07 4m07 GR
+1.5 +1.5 +1.5
260 |l B G) I75SsC 3m71 3m87 3m84 3m87
+1.5 +1.7 +1.5 +1.7
I [FHLE ZHE®G) RIEAC 3mo4 3m22 X 3m22
+1.9 +1.2 +1.2




hEBF1E EEB

ebieis#]

13:00

{51 5mbb Bk "2z (HR#E—) HBRFN594F
e
B4z No. K& (% %F) B 1EE 2@EA 3[EE 4[EH SER 6 [EH JE AL 3
(R (&) (&) (&) (&) (&) (&)
142 4m38 4m20 4m50 m m m 4m50
127 ZF &A1) | LwBE— 1
0.2 0.6 -1.6 0.6
201 - N x 4m15 x m m m 4m15
100 AH &) =5E_% 2
+0.5 +0.5
Kiiva N x 3m88 x m m m 3m88
67 =2 BE0) |FE—% 3
+1.5 +1.5
— BEEZI 13:00
Feys 2 . 3 S FAIREFZ
q:%%? E EII]EEE R 6m47 BE it (FFE—) HBMLGE
Ei 5
X o G 8%
NE sz No. K% (2%) B 1EE8 2@EA 3[EH 4[| H 5[EH 6 BB [:0 &
(&) (&) (R) (&) (R (R (B
145 L 5m25 4m79 5m12 m m m 5m25
104 B BHEQG Ee=g 1
0.5 -1.8 0.1 0.5
241 5m20 - 4mT m m m 5m20
27 WE REQ |EH—o 2
+0.9 -1.2 +0.9
3z 4m74 4m52 X m m m 4m74
120 e E@ ERIE— 3
+0.8 +1.4 +0.8




— AEZ 14:50

Fevs = FIREFZ

hELF 15 EEB — ——

KR 4m48 LI FIE (LiRZ) FER2E
BERSE

[[:04 No. K4 (3%5) g 1EH 2@EA 3[EH 4[EH 5EH 6B H [[:0 &%
(&) (&) (&) (&) (R) (R) (R)

14z 130 A AHE() |B=H 3m71 3m85 X m m m 3m85 ,
-1.0 +0.2 +0.2

241 96 FE npEA) |EBE—% 3m63 3m62 3m65 m m m 3m65 )
-1.8 -0.6 -0.6 -0.6

3L 49 KAR RZEQ) |FE— 3m19 3m13 3m21 m m m 3m21 3
-1.6 +1.0 -0.2 0.2

— REEZ 14:50
FYvs = FIEF %
hELF2 - 3F EREH — P —
SR 5m10 Bk =i (FB=) FRI9FE
B 5
RE Lk

4L No. K& (#%%) B 1EH 2@ER 3[EH 4[EH SEH 6 EH JEGL & £
(&) (R) (&) (&) (R) (R) (&)

161 120 ER BMQ) |§=% 4m04 4m10 4m15 m m m 4m15 ,
1.4 -1.2 0.1 -0.1

24 45 XA FEEQ |FE-—4 3m79 4m11 4m10 m m m 4m11 )
1.7 +0.8 -0.7 +0.8

3 29 IANKE HEQ2) |EHREBE=d| 3m64 3m59 3m70 m m m 3m70 ,
1.8 -0.8 +0.9 +0.9




—ﬂﬁ%% EIIE‘E;B FrsR B ZI 13:00
EE S 6m84 KE FER (BHAK) MM624E
BERSE
IE L No. K& (&) R 1THEHE 2[EH 3mEA 4EB 5EB 6[EB JEGL fi&
) (B (&) (&) (R (R (R
142 74 KB k(@2 LTS 6m14 6m06 6m01 m m m 6m14
1.4 0.6 0.5 4.4 1
241 18 i KF()  |EILIRES X X 5m31 m m m 5m31
0.6 0.6 ?
Kiva 80 O OE®) HIBE 4m09 4mB4 4m82 m m m 4mB4 3
+0.4 0.4 0.1 0.4
FAsE B 11:30
_ﬂgt? imgﬁg R 5mi19 & HE (Blux¥F) FRIE
B
TSR
AL No. K& (% &) R 1THEE 2[EH 3mEA 4EB S5EEB 6[EH JEAL &
(&) () (A) (A) (A) () ()
iz 10 i EE (1) [EILRBEH| mI8 3m95 4m11 m m m 4m11 1
1.5 2.4 2.1 2.1
261 53 HIE MFQ) [BISE X X 4m10 m m m 4m10
+1.9 1.9 ?
3{iz 73 Bt #&EF0) |"ERERREX| 3m77 3m76 3m40 m m m 3m77 3
1.6 2.1 1.2 1.6




Feys —= BAREEZI 11:00
EP%%? tﬁﬁk SEHE Im8l P Bz (BHE) FHAE
3 L B I
g || KA Ao B | 1m25 | 1m30 | 1m35 | 1m40 | 1md45 | 1m50 | 1ms5 [ 1m0 | ®®F%| @ [ ®%
14| 152 |@& #%EQ) [E=+ - - - - - ) o) 0 1m65[ 1
24 44 |FEE BRQ) LiRE=rh O (@) — (@) @] x10 (@) x1x1x| 1mbb| 2
244 32 |HFR KEQ) |EF— — — - — — x101 |O xixix| 1mb5| 2
BImESZl  13:30
(=] =
EP*#? %IEE;E - . :
LB Imb8 BF X (BBI) THIE
e, - # i T
gl | me e i ® sEis| o | #%
1m20 | Tm25 1m30 | 1Tm33 1m36 m m m
162 123 |[ARE =B () |[&=4 @) x!Ix!10| x!x!0lO xIx!x 1m33] 1
244 107 |F#E #£EQ) |FE= o) o) x1x1x 1m25[ 2
244 126 |HE #AQ |[E=+ xiol [ xixix 1m20[ 3
. BmESZl 11:00
ﬁ&%? ﬁﬁﬁs xamp M6 RRAE GRIBIER) FMR10%E
it 15 R AR (Y14R) FERE 126
® ®
poll O BTN ETS Ed " mERE| o | W%
1m10 | 1m15 | 1m20 | 1m25 | 1m30 | 1m35 | 1m40 [ 1m45
162 18 [#u XKF()  |FHiIRBER |— — - — - — — - 1mb50] 1
247 10 (KA R*x R FER - - - - @] - x10 x1x10O| 1mb50| 2
240 7 TNl 88— () X1 X1X 1m10| 3
—R&F E=H
= SEHE  Imb6 BE B GRIEER) FTRIE
® ®
poll O TR ETS L mER| g | W%
1m20 | Tm25 m m m m m m
. o 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
mz| 11 (wE BEo  |momEss (o) | |xixix| {1 bbb bbb | tm2of




hFBF AR

FAsR %

13:00

KLk 10m98 #ia BEX (BEHZ) FpissE
= _ B .
=43 = K& (F5F) i ok | B %%
= 1EE 2@EE 3EE 4EE S5EE 6EE
14 152 &R &4 Q) |B&=d 8m98 | 8m79 | 9m42 m m m Im42 | 1
2461103 |hs zaur () |EBE= 8mb5 | 9m04 | 8m61 m m m Im04 | 2
36I| 29 |BHT BEZAT (D) |REF—r 6m04 | 6mb53 | 6m06 m m m 6mb3 | 3
s Baskes 10:15
¢ %t% EE;LE 3k 11m65 JROEEF (LRIE—) FRITE
E H
e | B[ me 2w % & gEan | B | ®
1E8 2[EE 3EE 4 @B S5[EH 6B H
1460 32 NIE #FHRFQ) | LHEEBE= 9m38 | 9Im96 | 8m61 m m m Im9%6 | 1
24| 18 | FEFDY ) |FEHF—dh Tm45 | Tm04 | 7Tm64 m m m Tmb64 | 2
3| 81 |FkE EEQ |HBE—F TmO07 | 7m01 | 7Tm05 m m m Tm07] 3
BABAEFZI 13:00
ﬂﬁ% ? EE;L?Q AL 15m34 4K 2 (KWANA BAR) FRE1T4E
A
Nz 3 K& (%) g Eacsk | B %%
1EE8 2[EE8 3EE 4[EE SEH 6 [EH
14| 95 |5EH Ezh RIBAC 9m37 | 8m97 | 8m95 m m m Im37| 1
24| 112|#8F BEH 8m81 X 8m36 m m m 8m81 | 2
I 73 |NE FF Q) |(HIsE 7Tm69 | 8mb52 | 8m80 m m m 8m80| 3
k¥ i
REREHE Im82 KA BB (IRIEMER) FRISE
E %
we | Bl oma (2as) Ed ® geam | ma |
1E8 2[EEB 3EEH 4 @B 5[EH 6 BB
14z 58 |EE BHEN) |HISE Tm59 | 8mb59 | 8m38 m m m 8mb9 | 1
241 11 )iE BE (1) |FHIALRESE| Tm49 | 8m42 | 8m12 m m m 8mi42| 2
6L 15 |&EF BEY 5m44 | 6m93 | Tm40 m m m Tm40| 3




